f:X-=Y

(Ve>0)(36> 0)(VX1’X2)[dx (%) <8=dy (f(x), (%)) < 5}
X}y (V2> 0)(AN > 0)(¥n.m> N){dy (%, %,) < e}
§=e=>dy (X Xy) <=y (f(Xp), f (X)) <e

{f(x)}., (¥ >0)(AN>0)(vn.m=> N){dy (f (x,), f (X)) <e}

So image of Cauchy sequenceis again Cauchy sequence, if f isuniformly continuous.

Since every continuous function defined on compact set is uniformly continuous, and complete space is compact,
then image of Cauchy sequence is again Cauchy.

But completeness of Y cannot guarantee the same statement as above.

So, aand b aretrue, and cisfalse.
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